Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018

[Roll No. : T R A
[Registration No. AR LR

"Name : I @/& #HEN

[Exam Venue : iON Digital Zone iDZ Purnea
[Exam Time : [9:00 AM - 10:30 AM

[Exam Date : |05/03/2019

Section : General Section
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Question ID : 9895808372
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Question ID : 9895808386
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Chosen Option : 2

Q.6 e Ty mr wue o St At or @t oy it 3 T v aper on awd e @ wefm
m:w::m:?

Ans

X TAIARE
v > g
X 3. oot

X 4 I I

Question ID : 9895808368
Chosen Option : 2
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Chosen Option : 4
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Chosen Option: 1
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Question ID : 9895808383
Chosen Option: 1
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Question ID : 9895808388
Chosen Option: 1
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Chosen Option : 4

041 T R w5 Jr on 3 o wens B v o o oy W # e
413 a8 381 T
Ans 1. 120
X2 82
v 2100
X 4 144

Question ID : 9895808379
Chosen Option: 3
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Chosen Option : 4
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Chosen Option : 4
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Chosen Option : 2
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Chosen Option : 3
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Question ID : 9895808369
Chosen Option : 4
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Chosen Option : 4
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Chosen Option : 2
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Chosen Option : 2
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Chosen Option: 3

Y Rofattn o & T @ s st & o R @ U e

A Al
N
L

L

=

Ans

v i |e

X2 9




Question ID : 9895808384
Chosen Option: 1
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Question ID : 9895807428
Chosen Option : 2
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Question ID : 9895807450
Chosen Option : 4
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Question ID : 9895807447
Chosen Option : 1
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Question ID : 9895807434
Chosen Option: 3
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Question ID : 9895807443
Chosen Option: 1
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Question ID : 9895807439
Chosen Option : 4
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Chosen Option: 1
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Question ID : 9895807442
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Chosen Option: 1
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Chosen Option : 3
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Question ID : 9895807777
Chosen Option: 1
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Question ID : 9895807760
Chosen Option: 1

Section : English Language




Q.1 - Fran the miver aptions, rdavicy e ssamant inthe senraece which coetaing rhe grammntical erear
Infummacian sailble for comammacation, miegreabon of processimg by a compoler are called as Dala.
Ans 2 1. suitable for communication

v 2. Information

/< 3. interpretation or processing

/< 4 are called as Data

Question ID : 9895808088
Chosen Option : --

Q.2 kst e pras, aperanriale vpiis b setatilule U desling) sepmenn e piven sy, U e 33 ouaeel o

rated s i skl M ngrsinenl.
Efoie than aoe Taveiler wepe piured arthe darailing oF ©oe maln st i

Ans  of 1. was injured
/< 2. No improvement
/< 3. are injured

/< 4 has injured

Question ID : 9895808090
Chosen Option : --

Q3 salect the most appropriate word to fill in the blank

Thie year 2018 rermained as (he best yvear of _mnd celebrations for him.
Ans  of 1. symbols

/< 2. mechanisms
/< 3. milestones

/< 4 provisions

Question ID : 9895808111
Chosen Option : --

Q4 gSelect the word which means the same as the group of words given.

Government not connected with religious or spiritual matters.

Ans X 1. Theocratic
/< 2 Secular
+ 3. Monarchic

/< 4 Democratic

Question ID : 9895808107
Chosen Option : --

Q.5




Ans

Select the most appropriats oprion to fll i the Dlank.
Tisthers Bitve tvpically been b o wedB they sugpens their Gondlies Bramcially,
# 1 judging
/< 2. judges
/< 3 judged
v 4 judge

Question ID : 9895808094
Chosen Option : --
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+dialilz il sl Wi g
Shee tread Lo ionestas doc b woseks S g peiace by an MO0 vwracking sou ke medaps of sinsst - cildran,
/< 1. in a project
/< 2. for a project
/< 3. No improvement
+ 4 to a project

Question ID : 9895808091
Chosen Option : --

Q.7

Ans

Select the synonym of the given word.

PATRON

/< 1. Beneficiary
« 2. Sponsor

#< 3. Owner

/< 4 Comrade

Question ID : 9895808101
Chosen Option : --

Q.8

Ans

Select the correctly spelt word.
/< 1. Disappointment

+ 2. Dissappointment

/< 3 Disapointment

/< 4 Disappiontment

Question ID : 9895808110
Chosen Option : --

Q.9




Select the antonym of the given word.

SHALLOW
Ans X" 1. Deep

v 2 External
/< 3. Primary
/< 4 Superficial

Question ID : 9895808104
Chosen Option : --

061 Select the option that means the same as the given idiom.

To judge a book by its cover.
Ans X 1. To rely on outward appearance
/< 2. To buy books after seeing the colourful cover
+ 3. To read the outer cover only

/< 4. To go with popular opinions

Question ID : 9895808105
Chosen Option : --

Q.1 Sele| e mipest pppmipmae wooen ko suliziioe e codeelined seqmest m e gicen sembenee, 10 ems s o e y
1 adislimizin sadect Wi migtanewd

5000 [00Rram s Lopioe 9 denern] Urose oo pubes hahave (ke 1 vimial sminal
Ans o 1. makes a general purpose computer

/< 2. No improvement
/< 3. makes general purpose computer
/< 4 makes a general purpose computers

Question ID : 9895808092
Chosen Option : --

Q1 E
, Select the antonym of the given word.

COLOSSAL

Ans X 1. Vast
& 2. Considerable
' 3. Countable
4 Minimal

Question ID : 9895808103
Chosen Option : --




Q.1 Froon 1l glven oprions, ety e sepanei w e sonimes wiell conrams e prammmatcal errot
3

sdost e halilaes has some cormection s the changs of s=asnms everywhere.

Ans o 1. Most major holidays
/< 2. to the change of

/< 3. has some connection

/< 4 seasons everywhere

Question ID : 9895808089
Chosen Option : --

Q.1 }
. Select the correctly spelt word.

Ans < 1. Consititution
& 2. Constituition
V' 3. Constitutoin
< 4 Constitution

Question ID : 9895808109
Chosen Option : --

Q; Select the word which means the same as the group of words given.

A sound that cannot be heard.
Ans X1 invisible
& 2 unrevealed
# 3. inaudible
« 4 impalpable

Question ID : 9895808108
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important 1o realise that an important factor m getting
appreciation is offen not (1) bar the success in academic
examinations bat your behaviour (2} others. Simplicity and
truthfulness plav a verv important role in social (3) - One should
alwavs be compassionate and should make an {4) to understand
the problems of companions and trv to find solutions. We should always
be flexible in our ()

SubQuestion No : 16

Q"I - . . "
¢ Select the most appropriate option that will fill in the
blank number 1.

Ans X 1. talked




o 2. driven
< 3. intended
/< 4 spoken

Question ID : 9895808096
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given,

It is very important 1o realise that an important factor in gerting
appraciation is offen not (1) by the success in acadsemic
axaminations but your behaviour (2) others. Simplicity and
truthfulness plav a verv important role in social (3) - Ome should
alwavs be compassionate and should make an {4) to understand
the problems of companions and trv to find solutions. We should always
be flexible in our (5)

SubQuestion No : 17

0'1 - . - .
5 Select the most appropriate option that will fill in the
blank number 2.

Ans x 1. on

W 2. about
< 3 for
< 4 towards

Question ID : 9895808097
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important 1o realise that an important factor in getting
appraciation is offen not (1) bar the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness plav a verwv important role in social (3) - One should
always be compassionate and should make an {4) to nnderstand
the problems of companions and trv to find solutions. We should always
be flexible in our (5)

SubQuestion No : 18

Q"I " . " "
g Select the most appropriate option that will fill in the
blank number 3.

Ans X 1. rejection
/< 2. approval
/< 3. denial




o 4 perception

Question ID : 9895808098
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given,

It is very important 1o realise that an important factor in gerting
appreciation is offen not (1) by the success in academic
axaminations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) - Ome should
alwavs be compassionate and should make an {4) to understand
the problems of companions and trv to find solutions. We should always
be flexible in our ()

SubQuestion No : 19

Q. . . . "
91 Select the most appropriate option that will fill in the
blank number 4.

Ans X 1. association
« 2. experiment
/< 3. attempt

/< 4 enquiry

Question ID : 9895808099
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important 1o realise that an important factor in gerting
appreciation iz offen not (1) bar the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness plav a verwv important role in social (3) - One should
alwavs be compassionate and should make an {4) to understand
the problems of companions and trv to find solutions. We should always
be flexible in our (5)

SubQuestion No : 20

0'2 - . - .
o Select the most appropriate option that will fill in the
blank number 5.

Ans 2 1. ambition
< 2 attitude
< 3. role
W 4 goal

Question ID : 9895808100




l Chosen Option : -

Q.2 : - :
;. Select the most appropriate option to fill in the blank.

A Vision is a oriented statement of where you want to be.
Ans X 1. current

< 2 future

o 3 trade

/< 4. present

Question ID : 9895808093
Chosen Option : --

Q2 : - :
, Select the mos! appropriate word to G in the blank.

Social media algorithms canbe  used infeaching - lzarming process,
Ans 3 1. momentarily

/< 2. briefly

/5 3. barely

W 4 easily

Question ID : 9895808112
Chosen Option : --

Q.2 Frown e ghvow gprions, Ity e seponelsr ot sendenes wiveh contams The srungtiea e
3

Mgy says he wwlerstardd Franch bat carmee snzak it as fhiently 2= kis parents and grandperenis de

Ans 3 1. but cannot speak
+ 2. he understood French

/< 3. parents and grandparents do

/< 4 as fluently as

Question ID : 9895808087
Chosen Option : --

Qf Select the option that means the same as the given idiom.

To take a stock of.
Ans % 1. To save a large quantity of stock

/< 2. To go to a stock - room and survey it
/< 3. To collect goods after an inventory

« 4 To assess and evaluate before taking a decision

Question ID : 9895808106
Chosen Option : --




Q2 T
. Select the synonym of the given word.

EXHAUSTIVE
Ans 1. Complete

/< 2. Temporary

« 3 Permanent

/< 4 Transitory

Question ID : 9895808102
Chosen Option : --

Section : Hindi Language

¥ BT T e F REw I

Erieg

Ans X-I_ m
X2 RErR
# 3 gfamen
W 4 T&

Question ID : 9895806881
Chosen Option : 1

Q2 for oy v F wifie wE & aREATE w8 & B segss e =1 oow )

TH &8 &5 I9EF )
Ans X“- a

X 2 FerEmr

V' emEd

X4 g

Question ID : 9895806868
Chosen Option : 1

¥ T wE # e F R suged e FoTIT

_ rEm gm T Rl
Ans X 1. T

X 2 Fgn

v 3 aTg!

X4




Question ID : 9895806873
Chosen Option : 3

¥ R T F o & T 3UgFT g FOTTA

AT F T an
Ans 1. qraT

Vv s

X 3. st

X 4 g

Question ID : 9895806874
Chosen Option : 2

O £y Iy F AT v e ST
food geaEa &
e X wEee
v 2 FigSy
X 3 mgaeferar
X 4 TEAT

Question ID : 9895806887
Chosen Option: 3

U fx wTw T w oA W wA S EEE o b

FaT T § FETA A 8, 3T AW WS A O W 2
e X s feAmT

Vo R

X 3 FIae FEEE AT ¢

X 4 AGeET SFES g,

Question ID : 9895806867
Chosen Option : 2

7 Er a5 T ARE T T FY
Ans x1' ﬁ_am
2 2 FrorgoT




v 3 fxevsor
X4 frgeroT

Question ID : 9895806889
Chosen Option: 3

Q8 fow o mmw § TEfET wE @ ohrwie £ & Gy svaes ey w1 Tua =)

W= T L AL T A
Ans x 1. ST
X 2 JA8T
o 3 AT
X 4 TER
Question ID : 9895806870
Chosen Option : 1
Q9 B=Tm & # 57 TeeT W A 7S R ¥ 0 dtF w=mr JEeT o A s we A

TS F T A A e

X 2 g Fr €17 9T Fq=ET

X 3 THEER & U HEAT T A FE
X4 &F F T wehg e

Question ID : 9895806886
Chosen Option: 1

G Rew e o ¥ P s9gEd ve & T
AgT _ aawgm w d

Ans K1 R

V2 3k

X5 3

X4 FTEr

Question ID : 9895806872
Chosen Option : 2

U T TTT areg F TATTETEY e T T




< 3. gqrafeely
v o gTafa

Question ID : 9895806884
Chosen Option : 2

U Rw AT weg F IS AeT F AU FI

TehdT

Ans X1 ar@ETIUTA
v 2. FTaeEr
A3 srEaeRar
X4 FHee

Question ID : 9895806883
Chosen Option : 2

Q; fom T TTEw = 3% AF FH & TAAE @1 5§
¥ A A A WA AR 0 Wi e ¥R BER 9w w0 AT

e X1 oide & T R @AT
X2 #R FERT
X 3. O T olar =gl
v o aegeter #r fafga sl

Question ID : 9895806865
Chosen Option : 4

% T I T o F T Fi
Ans 1. FTTS

X 2 FHeThe

X 3 HTEgTA

V' o HeTTe

Question ID : 9895806890
Chosen Option : 4

QT R o mEs A veEn dE e e & R o Ty = o s
e S Z= A 3 4

e K1 s
X 2 e
X 3 HEIT




v 4 FrEmTer

Question ID : 9895806869
Chosen Option : 4

% RT T e # REw I

Ans

Ter=R
v . GUER
X 2 glamR
X R
X 4 PR

Question ID : 9895806882
Chosen Option : 1

U Ry I ATy F AT UE e AT

Ans

e g @7 @

X1 e

?(2.@'%‘
X2 gafs

v s

Question ID : 9895806888
Chosen Option : 4

% Roa &= &1 s & forT 39gea e #7199 H

Ans

AT I e 2
X1 &
voi
X3 9T
?(4.;}]-

Question ID : 9895806871
Chosen Option : 2

Q.1




v 1w e &1 37 @ Aa w T w1 I 2

forddt o1 8 & @eT & TR S AT § 9% @i 2
M g @ B

XedF T Fgre &

Xasraarg

X4 FEr

Question ID : 9895806866
Chosen Option : 1

Comprehension:

Pt ez & feg vort fr qfF semrer & S
T GO F HTET A

ST uE A (1) ST= ITem TEE q57 WER 71 T/
WA TW 99 F Fdew (2) # =9 yF-uTH ¥ FATT
TAE TR RIS (3) & TEe & s
aordt Fs g ST § AT A9e g1 & ge-mee ST -
T T = (4) FT &7 &1 39 f&m = N A=
£y (5) T=IT FTAT 2|
SubQuestion No : 20

% ey & wSfag g == (1) & R
3G AT ET

Ane X FaATRY
X 2 =T
W 3 Jerar
X 4 AT

Question ID : 9895806876
Chosen Option: 3

Comprehension:




et ez F g wymr Fr ofF sy & @ B
mm#ﬂ:mﬂmﬂ#ﬁm

STl uE (1) == =Te FEY 797 TR 21 W
W W 99 F FEAF (2) # = yF-UTH ¥ FATW
FTAE T ETER F IR F __ (3) o wme & wwhy
T 3TN F AT & ST 37 ' # SE-EE 3T o
W FwH _ (4) = 2 &1 =7 BF w H#i =y
# __(5) HETGT ST 2
SubQuestion No : 21

% ey & wHfaT fea = (2) F fvw
3UYFA 2AEE 2|

Ans x1ﬁ7{
X 2 HATE
V3 A
X4 ¥

Question ID : 9895806877
Chosen Option : 3

Comprehension:

et ez F g oy fr ofF sy & @ B
T TR & I i

FrarEe wE & (1) ST =Tem HeH 57 =WEN 71 7
W IH 99 F Faw (2) & =& yF-UTH F FATT
ST | T SN R HE & (3) for T2 & sy
ST HIH F ST § ST 39 T # wve-awE 3T T
97T T A (4) T & &1 =W B i A ar=ny
____ (5) H=E S g
SubQuestion No : 22

% ey & EHfaT Reg = (3) F v
3UgF Mg BT

Ans X1BT
X2 TH
X3 |e
(4.@

Question ID : 9895806878
Chosen Option : 4




Comprehension:

Tt wearer & e st & 9fF s & & o
T WO & T -

el e & (1) = ST T 997 WEN 51 &7
WA EW 99 F FAF (2) # =% yF-uR ¥ FATT
AR TEEER R AR (3) T e & wwe
O 3T FT ST & ST 37w AT # de-Eee 3T o
T T (4) F1 & &1 39 RBF = A a=nr
= (5) T=TET ST 2|
SubQuestion No : 23

% ey & wfag g = @) F R
3UYFA 2AEE 2|

Ans K. HATST
X 2 3T
W 3. 3TTeT
AR CR ]

Question ID : 9895806879
Chosen Option: 3

Comprehension:

Tt ey & S vust & ofF o & O o
T T & IR e

Frorer wE & (1) = =Te §a9 957 &N & 81
WA EW 99 F Faw (2) # = yF-uH ¥ FA
TR W EET AN F (3) feer e & wmfr
orarlt aTer g ST F AT 3 ol & ane-mwe 3 -
T &7 (4) =T &7 #1 =7 &= =9 T 9=
® __(5) | STET £
SubQuestion No : 24

% aeziy F wfET Reg we (6) F v
39gFT 2Aeq 2|

Ans X1?IET
Jz?ﬁlﬁ
X 3 @
X4 HmHE

Question ID : 9895806880
Chosen Option : 2




A2 frorlem & F 7F FAT 57 S0 AU S TEeS A g o 6 S S g

Ans X 1. AFEA AR TTAT
X 2 gFT dST
' 3 TTIeTHT AT

X 4 hopdr FTeT

Question ID : 9895806885
Chosen Option : 3




